(& m)
55 75 1 (58 9 SR BEAR)

B TR A BB R B AR SR S SR B R A A A SR R SR A s
& H

Rk
HREgE (EPT

K4
(FEAG & 7 )

REDOLEB) AEHHEENVEEEEREZBEFELZANALZOT, AEHFFESA
BB RE LR F RIS EREIROREITLIVFERLET,

RG] 4 !

—
k={1113

(PR IA S el bk RE )

o SRAT 15 P 4 B bl
(ﬁl’r‘]ﬂ*{%ﬁé%% Z A - 21 T

TE 4 il 1:% 3@ 21 Yk 3 =D,

AL
(ESbTBHVLETY)

V777

R4 3%

(D55 LERAT)

o
(ESDTEBWLEY)

&

(ESHDTEBWLEY)

V575

F B4 5%




FIHLE-Y—E 2D NER

MO FEEICBNT, AT —E X (] FEERAT —EReE) OFHEZ 5N TE
WHDD B E ELTTEE 0,

¥ ERAHIT. P AR ABID 100 43D 90 ITFY T AL, 1 RGOBMNAELT-Lx
IO CLIZE W, 722 BEN#E X EOR A I 15H01F 15,000 MO EREZ G ELTL
7280,

¥ ZORA~OLEPE LA, HMO 1258k I ER) 2T L TLESN,

XK — B XOF IR D EH

B SeX |
FIA B FIALEY—E = Il FEH " o
(¥ %K X 90/100)
& 5t M (A)
<1 HH-vo ERR%E 150,000 M
KRB
FIH B By ik 4 %8 AH R A %H
15, 000H
15, 000H
& &t M (B)

*X1HIZH>& 15,000 M

an SRR AR (A)+(B) = 4




